2012 Mechanisms Final 50 + 75 + 75 =200 points NAME:

1) (4+1+2+3=10pts)
a) List the 4 things that can happen to a cation.

b) What is Occam’s Razor ?

c) Can you prove a mechanism is correct ?

d) What are the precise scientific meanings of these three different arrows ?
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2) aspts) Draw in all the curly arrows for the following mechanism of an acid
catalyzed esterification. (10pts)
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3) (bpts) Draw in the curly arrows for this reaction.
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4) (10pts) Draw the arrows for this reaction.
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5) (10pts)
a) List two features of an Sy2 reaction.

b) List three things you should check before you submit your completed exam.

¢) What characteristic must a protic solvent have ?

d) List two features of a carbocation rearrangement.

e) What is Anchimeric Assistance ?
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THE NEXT SECTION HAS 4
BASE / ANION PROBLEMS

(A) - (D)

EACH WORTH 25 PTS

ANSWER ANY 3
(For 75 pts)
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A) (25pts) Draw the mechanism for the following transformation.
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B) (25pts) Draw the mechanism for the following transformation.
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C) (25pts) Draw the mechanism for the following transformation.

2012Mech-Final.docx Page 9



D) (25pts) Draw the mechanism for the following transformation.
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THE NEXT SECTION HAS 4
ACID / CATION PROBLEMS

(E) - (H)
EACH WORTH 25 PTS

ANSWER ANY 3
(For 75 pts)
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E) (25pts) Draw the mechanism for the following transformation.
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F) (25pts) Draw the mechanism for the following transformation.
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G) (25pts) Draw the mechanism for the following transformation.
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H) (25pts) Draw the mechanism for the following transformation.
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2012 Mechanisms Final 50+ 75+ 75 =200 points NAME: F'w"u’ f’( L

1) (4+1+2+3=10pts)
a) List the 4 things that can happen to a cation.
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¢) Can you prove a mechanism is correct 7
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d) What are the precise scientific meanings of these three different arrows 7
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2) (15pes) Draw in all the curly arrows for the following mechanism of an acid
catalyzed esterification. (10pts)
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3) (5pts) Draw in the curly arrows for this reaction,
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4} ( 10pts) Draw the arrows for this reaction,
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3) (10ms)
a) List two features of an 542 reaction.
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b) List three things you should check before you submit your completed exam.
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¢} What charactenstic must a prafic solvent have 7
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d) List two features of a carbocation rearrangement.
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A) (25ps) Draw the mechanism for the following transformation.
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B} (25pis) Draw the mechanism for the following transformation,
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') (25psh Draw the mechanism for the following transformation,
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D} y25pes) Draw the mechanism for the following transformation.
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E) (25p:) Draw the mechanism for the following transformation.
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) (25ms) Draw the mechanism for the following transformation.
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H) 125pes) Draw the mechanism for the following transformation.
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